DESCRIPTIVE STATISTICS  with  MINITAB           

Summer A, 2007

Example 1. 

We will do Exercise 41 from Chapter 5.  Data set in Excel format is on the CD that comes with the text         

MINITAB:
Start MINITAB, enter data in column C1.(copy paste from the excel file in the cd)
Click Session Window, then Editor, Enable Commands. In Session window you should see the prompt  MTB >
Descriptive Statistics: 

1. Click Stat , Basic Statistics, Display Descriptive Statistics

2. Click C1, Select,  OK

3. In Session window you will see summary statistics:

Descriptive Statistics: C1 

Variable   N  N*  Mean  SE Mean  StDev  Minimum     Q1  Median     Q3  Maximum

C1        38  0  487.2     11.7   72.3    275.0  447.8   499.0  531.3    604.0

MINITAB Answer to Exercise  41a:  min=275,  Q1=447.8,  median=499, Q3=531.3, max=604;



        mean= 487.2, s=72.3

Graphs:

1.   Boxplot: 

a) From Graph menu select Boxplot, accept first option, OK; 

b) Click C1, Select,  OK
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2.  Histogram: 

c) From Graph menu select Histogram, accept first option, OK; 

d) Click C1, Select,  OK
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Example2. 

We will do Exercise 35 from Chapter 8.  

MINITAB:
1. Start MINITAB, enter Fat in column C1 and Calories in C2

2. Click Session Window, then Editor, Enable Commands. In Session window you should see the prompt  MTB >
3. Click Stat , select Regression…, Regression

4. Click Response window, then C2, Select

5. Click Predictors window, then C1, Select, 

6. Click Results, and select the last option In addition the full table of fits and residuals

In Session windows you will see the following 

Regression Analysis: Calories versus Fat 

The regression equation is

Calories = 211 + 11.1 Fat

Predictor    Coef  SE Coef     T      P

Constant   210.95    50.10  4.21  0.008

Fat        11.056    1.430  7.73  0.001

S = 27.3340   R-Sq = 92.3%   R-Sq(adj) = 90.7%

Analysis of Variance

Source          DF     SS     MS      F      P

Regression       1  44664  44664  59.78  0.001

Residual Error   5   3736    747

Total            6  48400

Obs   Fat  Calories    Fit  SE Fit  Residual  St Resid

  1  19.0     410.0  421.0    24.2     -11.0     -0.86

  2  31.0     580.0  553.7    11.3      26.3      1.06

  3  34.0     590.0  586.8    10.3       3.2      0.12

  4  35.0     570.0  597.9    10.4     -27.9     -1.10

  5  39.0     640.0  642.1    12.3      -2.1     -0.09

  6  39.0     680.0  642.1    12.3      37.9      1.55

  7  43.0     660.0  686.3    16.2     -26.3     -1.20

Scatterplot;  

1. Click Graph, Scatterplot, With Regression, OK

2. Click cell  1 Y variables, then choose C2, Select

3. Click cell  1 X variables, then choose C1, Select, OK
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